Notice that “co” represents the complementary angle relationship and the
cofunctions: sine/cosine, secant/cosecant, and tangent/cotangent.

The complementary angle relationship leads to:

] sin 6 = cos (90° - 6) cos B = sin (90° - 0)
secO=csc(90°-0) and csc O =sec(90°-0)
tan 6 = cot (90° - 0) cot 6 = tan (90° - 0)

Example 1

Rewrite each trig function using the cofunction.
sin 39° = cos (90° - 39°) = cos 51°

Practice Problems 1

1. Beos 7%= 2. cot84:]° =

3. ‘cos- 682 15405 =

4. tan 35°= 5. sint79°28" =
6. sec 53.32%= 7. sec42.6° =
8. csc9°= 9. tan 26° =
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Practice Problems

15

2

3.

sin (-0) cot (-0) = 1
sec 0

cos 6 csc B =cot B

cot (90°-0) cotB =1
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